Dx-5)x+8)=0

<= I x -
N(x+25)x+7)=0 x=[  |x=
3 (x+2)(x+3)=0 x= [ | x=
HE+H2x-6)=0  x= x=
5)8+40(3-x)=0  x= X =
6)(x—14)(x-0,5)=0 x= X =
7N(x+42)(x-57)=0 x= X =
8)(13-x)(2-89=0 x= X =
9)(2x-20)4x+16)=0 x= [ | x=
10) (22+110(15-30=0 x= x =
11) (7x-49)05x-10)=0 x= X =
12) (6x—-3)(1-%)=0 x = x=[F
13) (4-x)(2x—36)=0 x = x=(___
14) x(x+5)=0  x= X =
15) x(x-17)=0  x= X =
S
16) 5x(x+45)=0 x= X =
17) -6x(x—-60)=0 x= x = (.
18) 03x(9-x)=0 x= X =
19) x(dx-32)=0  x-= <=
20) x(x+8=0  x= X =

Rozwiqz rownania(ax+b)(ecx+d)=0 i ax(bx + ¢)=0




